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1. &g u] 150 150 0

6.9% wHLE 3,490 2,240 1,250

1.8t w89 240 240 0
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1. 0583 ] 1,750 0 1,750 g?f%ﬁééfjiﬂ%f}q%ﬂé &97 1,750,000
7.95r0] wgE 1,050 1,750 -700
1.9zl wate-d 450 750 -300
1. 0529 A 450 750 -300| Gl W AT FEFTY © -300,0009+13] = -300,000
2. 942 uNEg 600 1,000 -400
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8. 5T uguites 7,429 10,581 -3,152
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1. WS- 7,429 10,581 -3,152| QAT T ¢ -1,152,0009%13] = -1,152,000
AAWLILATY © -2,000,000913] = -2,000,000
2.8 APgs 58,051 60,907 -2,856
124885 3,500 3,500 0
1.3t 2 2] 3] &5 2,000 2,000 0
1. &2 v 1,000 1,000 0
2. S E-A]H) 1,000 1,000 0
2.8 59 1,500 1,500 0
1. 255G 1,500 1,500 0
2. @G ARTES S 41,601 41,601 0
1.(5)18hd dgAge s 12,479 12,479 0
1. 05993 12,479 12,479 0
2.(57)28hd FAAEE 14,793 14,793 0
1. 059N 14,793 14,793 0
3.(5)35hd A I 14,329 14,329 0
1. W99 14,329 14,329 0
3. 5ol g 2,576 2,576 0
1. 5ot &% 1,400 1,400 0
1. 08890 1,400 1,400 0
2. GuAE=IHIT 1,176 1,176 0
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4. B 2% 4,950 5,950 -1,000
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1.728589 5,424 7,280 -1,856
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2710l 8 &% @ -516,0009#13] = -516,000
3.2 (d) 2% 22,530 12,960 9,570
1. A7 () A Es 22,530 12,960 9,570
1. A8 71 A 85 7,780 12,960 -5,180
1.8+949 5,780 8,960 -3,180 | A& &AM -3,180,0009%13] = -3,180,000
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1. 4 7,680 7,680 0
1. -3k 7,680 7,680 0
1. 34 5,262 5,262 0
1. WS- 5,262 5,262 0
2. 932, E0 A AL 2,068 2,068 0
1. a&2-ogn) 2,068 2,068 0
3. B FAL (AL TE) 17 1) 350 350 0
L7 Al kA Q1 v 350 350 0
2. A =LA 8,810 2,810 6,000
1. ARG GA = 1,890 1,890 0
LS =(AH)EY 1,890 1,890 0
1. &g ) 1,890 1,890 0
2.3t alE o 6,520 520 6,000
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1.9 Rk8-] 200 200 0
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1. 0529 H 100 100 0
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2. 4Rk Fxm] 7,650 7,650 0
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2,931 9,600 9,600 0
3.0 E 9 H) 7,775 575 7,200 i:frl@ jM% EA T 2,570,000 2,370,000
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2. WZAFA (TS 3 2] H 3,600 3,600 0
1.7 Al kA 41714 3,600 3,600 0
2,414 ] fA 191,852| 175,044 16,808
1.8 A Fu] 64 191,852| 175,044 16,808
1. 3e g2 AT 74,446 71,268 3,178
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3. HEFT S 1,100 0 1,100 | 2X7e F4u] 1 220,000957)] = 1,100,000
3. 34 %% 3,928 3,928 0
1. kg9 3,928 3,928 0
4. 57T (A v )] 29,766 31,566 -1,800
L7 Al kA Q1 v 26,860 28,660|  -1,800|1718] : -1,800,00091*1%] = -1,800,000
2. 58717 A AP A 2,906 2,906 0
5. A1 ¢ 8&9 6,714 6,714 0
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6.3 A E L 3,000 3,000 0
1.9 3,000 3,000 0
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